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B R A R ———— 1,397k Wh 4 X 54% +58% = 1,301kWh /4
WE %L DR ——1,397kWh /4F X 54% <+ 58%=1,301kWh /4
Flo. EHHEOEERN KKV BRARMEOMERE TR,
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W E R EEN R ———— 96 kWh,/ 4 +20m3
=4.8kWh /% -m3 (A0.048GJ 4 -m3, A0.0023t—CO2 /% -m3)
W% L0 ENRM——96 kWh, /4 +20m3

=4.8kWh, /% -m3 (A0.048GJ, - -m3., A0.0023t—CO2,/ 4 -m3)
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IREIC, BT — X OZKEEZEOEE 42,290.51m3 12 FREOEE F U T,
L% S5EMOBE IV - REHEHT S,
WO AR R R ————— 42,290.51m3 X 4.8 kWh /4 -m3
=202,994kWh /5 4*
—RT RN X—BEHE—— A2,024G] 5 ¥
CO2 e E————— A97t—CO2,/ 5 E*

BEH % L0 RAE M ———42,290.51m3 X 4.8 kWh /4 - m3
=202,994kWh /5 4*
—RT RN X —BEHE —— A2,024G] 5 F*
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WEMEAKE 6,870m3,/ F
O —A1: R 7TEEI 15% TiEix
W £F [ R A ey ] 6,870m3 4+ (0.75X1.35m3,/ %) +60=113h 4
WAERMEHDEER 113h 4 X (0.75X16.5kW) X0.54+0.58
=1,302kWh /4
O —A2: R T7THET 50% CiEix
W £ ] B 1R ] 6,870m3 4+ (0.5X1.35m3,/4y) +60=170h/ 4
WERENDHEESRE 170h 4 X (0.5X16.5kW) X0.54+0.58
=1,306kWh /4
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